Solving Inequalities

Getting Started: 

Review of Previous Lesson/HW/Do Now
Statement of Objectives: 

A.A.24 Solve linear inequalities in one variable.
Big Idea: 

Inequality Symbols:
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The solution of an inequality includes any values that make the inequality true. 

Solutions to inequalities can be graphed on a number line using open and closed dots.

Open dots vs. Closed dots

	When the inequality sign does not contain an equality bar beneath it, the dot is open.
	When the inequality sign contains includes an equality bar beneath it, the dot is closed, or shaded in.

	
[image: image2.wmf]Graph of 1

x

>



[image: image3.emf]Lesser Greater

0 1 2 3 -1 -2 -3


	
[image: image4.wmf]Graph of 1

x

³



[image: image5.emf]Lesser Greater

0 1 2 3 -1 -2 -3



	
[image: image6.wmf]Graph of 1

x

<



[image: image7.emf]Lesser Greater

0 1 2 3 -1 -2 -3


	
[image: image8.wmf]Graph of 1

x

£



[image: image9.emf]Lesser Greater

0 1 2 3 -1 -2 -3



	
[image: image10.wmf]Graph of 1

x

¹



[image: image11.emf]Lesser Greater

0 1 2 3 -1 -2 -3




The Big Rule for Solving Inequalities:

All the rules for solving equations apply to inequalties – plus one:

When an inequality is multiplied or divided by any negative number, the direction of the inequality sign changes.

Sample Math A Regents Problem

	The inequality 
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(1) 
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(3) x 6

(2) 
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(4) x 6


One Solution
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The answer is choice (4) x>6.  Note that the inequality sign is reversed when the left and right expressions are switched,


Compound Inequalities

· Two inequalities joined by the words “and” and “or” create a compound inequality.

· and means that the solution must make both inequalities true.

· or means that the solution must make either of the inequalities true.

Solutions Strategies 

· Write the compound inequality in two parts and solve each part.

· Work on all three expressions of the compound inequality at the same time.  (Any inverse operation must be applied to all three expressions.)

Modeling:

Sample Math A Regents Problem

	Which graph represents the solution set for 
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(2)
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(3)
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(4)
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One Solution

	Solve the compound inequality in two parts.  The solution set must make both parts true.
[image: image22.wmf]

	First Part


[image: image23.wmf]2x - 48

2x 8+4

2x 12

x 6

£

£

£

£


This part of the inequality has an equality bar under the less than sign, so the solution set includes 6 and the dot will be closed, or shaded.
	Second Part
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This part of the inequality has an equality bar under the greater than sign, so the solution set includes 2 and the dot will be closed, or shaded.

	The combined solution set can be written as 
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The solution is choice (2).


Check for Understanding: 

Guided Practice: 

Selected worksheet.

Independent Practice: 

Students should complete the worksheet on their own.
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